

Name: Otoko Jemimah Anojinombeke  
 Matric NO: 1515N403/028  
 Dept: Civil Engineering  
 Date: 23rd Oct 2017

1) If  $y = e^{x^2+x}$   
 $u = e^{x^2+x}$   $v = 1 \Rightarrow v' = 0$   
 $u^n = (2x+1)^n e^{x^2+x}$   
 $y = u^n \cdot v^0$   
 $y^n = (2x+1)^n e^{x^2+x} \cdot 1$   
 $y' = (2x+1)^1 e^{x^2+x}$   
 $v = 2x+1, u' = 2, v' = 0$   
 $u^n = (2x+1)^n e^{x^2+x}$   
 $y^n = 2!^n v^0 + n! u^{(n-1)} v^1 + 0$   
 $y^n = (2x+1)^1 e^{x^2+x} \cdot 2x+1$   
 $+ n(2x+1)^{(1-1)} e^{x^2+x} \cdot 2$   
 $y^n = (2x+1) e^{x^2+x} (2x+1) + 1(2x+1)^0 e^{x^2+x} \cdot 2$   
 Recall  $(2x+1)^1 \cdot x^{2+x} = y', e^{x^2+x} = y$   
 $y^n = y'(2x+1) + 2y$   
 Prove that  $y^{(n+2)} = (2x+1)y^{(n+1)} + 2(n+1)y^n$   
 where  $w = y^n$   
 $y^n = y'(2x+1) + 2y = 0$

$u = y^n, u^n = y^{(n+2)}$   
 $w^n = u^n \cdot v + 0$   
 $w^n = y^{(n+2)} \cdot 1$   
 $w^n = y^{(n+2)}$   
 where  $w^n = (2x+1)y$   
 $u = y, u^n = y^{(n+1)}, v = 2x+1$   
 $y = 2, v' = 0$   
 $w^n = u^n \cdot v^0 + n! u^{(n-1)} v^1$   
 $w^n = y^{(n+1)} (2x+1) + n! y^n \cdot 2$   
 where  $w^n = 2y$   
 $u = y, u^n = y^n, v = 2, v' = 0$   
 $w^n = u^n \cdot v^0$   
 $= y^n \cdot 2$   
 $= 2y^n$   
 $\therefore y^n = y^{(n+2)} - [y^{(n+1)} (2x+1) + n! y^n] = [2y^n]$   
 $y^{(n+2)} = y^{(n+1)} (2x+1) + n! y^n + 2y^n$   
 $y^{(n+2)} = (2x+1) y^{(n+1)} + 2y^n$

2)  $y = x^3 e^{4x}$  determine  $y^{(5)}$   
 $u = e^{4x}, u^n = 4^n e^{4x}$

$v = x^3, v^1 = 3x^2, v^{(2)} = 6x, v^{(3)} = 6, v^{(4)} = 0$

$y^n = u^n \cdot v + n u^{(n-1)} \cdot v^1 + \frac{n(n-1)}{2!} u^{(n-2)} \cdot v^{(2)} + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} \cdot v^{(3)} + \frac{n(n-1)(n-2)(n-3)}{4!} u^{(n-4)} \cdot v^{(4)}$

$y^5 = 4^5 e^{4x} \cdot x^3 + 5 \cdot 4^{(5-1)} e^{4x} \cdot 3x^2 + \frac{5(5-1)4(5-2)}{2!} e^{4x} \cdot 6x + \frac{5(5-1)(5-2)4(5-3)}{3!} e^{4x} \cdot 6 + 0$

$y^5 = 15 e^{4x} \cdot x^3 + 5 \cdot 4^4 e^{4x} \cdot 3x^2 + 5 \cdot 4^3 e^{4x} \cdot 6x + 5 \cdot 4^2 e^{4x} \cdot 6$

$y^5 = 1024 e^{4x} \cdot x^3 + 3840 e^{4x} \cdot x^2 + 3840 e^{4x} \cdot x + 960 e^{4x}$

$y^5 = 64 e^{4x} (16x^3 + 60x^2 + 60x + 15)$

ii)  $x^2 \frac{d^2 y}{dx^2} + x \frac{dy}{dx} + y = 0$

show that

$w^n = x^2 y^{(n+2)} + (2n+1) x y^{(n+1)} + (n^2 + 1) y^n = 0$

$x^2 y'' + x y' + y = 0$

$w^n = x^2 y''$

$u = y'', u^n = y^{n+2}, v = x^2$

$v^1 = 2x, v'' = 2, v^{(3)} = 0$

$w^n = u^{(n)} v^0 + n u^{(n-1)} v^1 + \frac{n(n-1)}{2!} u^{(n-2)} v^{(2)} + \frac{n(n-1)(n-2)}{3!} u^{(n-3)} v^{(3)}$

$w^n = y^{(n+2)} \cdot x^2 + n y^{(n+1)} \cdot 2x + \frac{n(n-1)}{2!} y^n \cdot 2 + 0$

$w^n = x^2 y^{n+2} + 2x n y^{(n+1)} + n(n-1) y^n$

$w^n = 0$

$w^{(n)}$

$w^n = y^{(n+2)} \cdot x^2 + n y^{(n+1)} \cdot 2x + \frac{n(n-1)}{2!} y^n \cdot 2 + 0$

$w^n = x^2 y^{n+2} + 2x n y^{(n+1)} + n(n-1) y^n$

$w^n = x^2 y^{n+2} + 2x n y^{(n+1)} + n(n-1) y^n$

$w^n = x^2 y^{n+2} + 2x n y^{(n+1)} + n(n-1) y^n$

$w^n = x^2 y^{n+2} + 2x n y^{(n+1)} + n(n-1) y^n$

$w^n = x^2 y^{n+2} + 2x n y^{(n+1)} + n(n-1) y^n$



$$u = y^r : u^n = y^{n+r}, \forall r \neq 0, \forall r \neq -1, \forall r \neq 0$$

$$w^n = y^{n+r} \cdot x + n y^{n+r-1} \cdot 1 + 0$$

$$w^n = x y^{(n+r)} + n y^n$$

$$\therefore x y' = x y^{(n+r)} + n y^n$$

$$u = y, u^n = y^n, \forall r = 1, u' = 0$$

$$w^n = u^n \cdot 0 + n u^{(n-1)} \cdot 0$$

$$w^n = y^n$$

$$\therefore y = y^n$$

$$\therefore y^n = x^2 y^{(n+2)} + 2xy^{(n+1)}$$

$$+ n(n-1)y^n + xy^{(n+1)} + ny^n + y^n$$

$$y^n = x^2 y^{(n+2)} + 2xny^{(n+1)} + xy^{(n+1)}$$

$$+ n(n-1)y^n + \dots + ny^n + n$$

$$y^n = x^2 y^{(n+2)} + (xy + 2xn) y^{(n+1)}$$

$$+ (n(n-1) + n + 1) y^n$$

$$y^n = x^2 y^{(n+2)} + (xy + 2xn) y^{(n+1)}$$

$$+ (n(n-1) + n + 1) y^n$$

$$y^n = x^2 y^{(n+2)} + xy^{(n+1)} (2n+1)$$

$$+ (n^2 - n + n + 1) y^n$$

$$\therefore y^n = x^2 y^{(n+2)} + (2n+1)$$

$$xy^{(n+1)} + (n^2 + 1) y^n = 0$$